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QUESTION 1

You have been asked to define a data block based on a JOIN of multiple tables. The read-only data will be used for
calculations and lookups. The DBA is on holiday and is unable to define a view on the database server. What is the
simplest way for you to continue to build the form?

A. Define a data block based on a Ref Cursor.

B. Define a data block based on a Table of Records.

C. Define a data block based on a From Clause query.

D. Define a data block based on a combination of a Ref Cursor and a Table of Records.

E. Define a data block based on a Ref Cursor and define Transactional triggers for controlling DML statements.

Correct Answer: C

QUESTION 2

You write a form in which there are two text items (FIELD1 and FIELDZ2) and a button (BTN1) arranged in the following
navigation sequence:

FIELD1, BTN1, FIELD2

With the focus in FIELD1, the user presses the [Next Item] key and encounters a navigation trap, in which the cursor is
unable to advance to the next item and cannot return to FIELD1.

Which three conditions can combine to produce such a navigation trap? (Choose three.)
A. FIELD1 has a Post-Text-ltem trigger that fails.

B. FIELD1 has a Pre-Text-Item trigger that fails.

C. FIELD1 has a When-New-Item-Instance trigger that fails.

D. FIELD2 has a Post-Text-Iltem trigger that fails.

E. FIELD2 has a Pre-Text-Item trigger that fails.

F. FIELD2 has a When-New-Item-Instance trigger that fails.

G. The Keyboard Navigable property of BTN1 is set to No.

H. The Keyboard Navigable property of BTN1 is set to Yes.

Correct Answer: BEG

QUESTION 3
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Which statement about object libraries is true?

A. Object libraries are saved as part of the Forms module.

B. You cannot place an individual item into an object library.

C. When you open Forms Builder, all object libraries in the current working directory are opened.
D. Using object libraries can increase network performance by promoting object similarities.

Correct Answer: D

QUESTION 4

The following On-Error trigger was written to give users a more meaningful message when they press the Up key when
the cursor is in the first record (the FRM-40100 error) and to display default messages for all other errors:

IF message_code = 40100 THEN
MESSAGE(\\'You are already at the first record\\’);
ELSE

MESSAGE(message_type || W-\\' ||
to_char(message_code) || \\: \\' || message_text);
END IF;

When you test the form, you still get the FRM-40100 message when you press the Up key while the cursor is in the first
record. Your custom message does not appear.

What corrections can you make so that the code functions properly?

A. Change all occurrences of message_code, message_type, and message_text to error_code, error_type, and
error_text.

B. Eliminate the to_char function because message_code is a varchar2 value.
C. To keep the remaining code from executing, add after the second line: RAISE FORM_TRIGGER_FAILURE;

D. Change all occurrences of message_code, message_type, and message_text to DBMS_error_code,
DBMS_error_type, and DBMS_error_text.

Correct Answer: A

QUESTION 5
You are developing a customer information application for a pay television company. The customer\\'s home telephone

number is used as the account number for the customer. Clerks must be able to update the telephone number in case
of changes or data entry errors.
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A data entry clerk will typically open several forms from the Customers form that are synchronized with the currently
selected customer using a global variable containing the telephone number.

Although you also need to modify the other forms, what two triggers should you code in the Customers form to keep the
forms synchronized in case the data entry clerk updates the telephone number or selects a different customer? (Choose
two.)

A. Pre-Query

B. Post-Query

C. Key-Next-Record

D. When-New-Record-Instance

E. When-Validate-Item for the phone number item

F. When-New-Item-Instance for the phone number item

Correct Answer: DE
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